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General Instructions :
The question paper comprises of two sections, A and B. You are to attempt both the sections.
All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.

Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.

Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only. During
this interval you are not to write any thing on the answer book.
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SECTION - A

What will be the Kinetic energy of a body when its mass is made four times and the
velocity is doubled ?

A freely falling object eventually stops on reaching the ground. What happens to its
Kinetic energy on reaching the ground.

Define biogeochemical cycle. Give examples also.
Name two biologically important compounds that contain both oxygen and nitrogen.

What is meant by reverberatrion of sound ? Does reverberation produce undersirable
effects in big hall or auditorium ? If yes, how are the undesirable effects avoided ?

Relative densities of two substances A and B are 2.5 and 0.9 respectively. Find densities
of A and B. Also find whether they will sink or float in water.
(Density of water = 1000 kg/m?).

(a) List two factors on which buoyant force depends.
(b)  Find pressure, when a thrust of 20 N is applied on a surface area of 10 cm?.

The heaps of solid waste are a menace. Give two reasons.

How addition of undesirable substances and change in temperature affect the water
life.

Potassium chlorate decomposes, on heating, to form potassium chloride and oxygen.
When 24.5 g of potassium chlorate is decomposed completely, then 14.9 g of potassium
chloride is formed. Calculate the mass of oxygen formed. State the law of chemical
combination which you have used in solving this problem.

What is the number of valence electrons in (i) sodium ion (Na™) (ii) oxide ion (O27)
(Atomic number of Na = 11 ; O = §)

List the conventions used for writing a scientific name. What is the importanc of
scientific names ?

(a) How many chambers do the heart of fish, amphibians and mammals have ?
(b) Name the classes of vertebrates which lay eggs with shells.

Distinguish between the following :

(a) Mechanical Waves and Electromagnetic Waves.
(b) Loudness ad Intensity.

() Crest and Compression

(a) When is work done by a force negative ?

(b) Two bodies have their masses m;/m,=3 and their kinetic energies E;/E,=1/3.
What will be the ratio of their velocities ?
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(a) Does the sound of a bomb explosion travel faster than the sound of the humming
bee ?

(b) A sonar device on a submarine sends out a signal and receives an echo 5 s later.
Calculate the speed of sound.

(a) Define Molar mass. What are its units ?
(b)  Write the names of compounds represented by the following formulas :
i) K,CO,4 (ii) Na,SO, (iii) Ca(HCO,), (iv) H,S

If the number of molecules in a given sample of sulphur dioxide (SO,) is 3.011 x 10%,
calculate the following :

(i)  The number of moles in the given sample.

(i) Mass of Sulphur dioxide in the given sample.

(iii) number of oxygen atoms in the given sample.
(Atomic mass of S=32u ; O=16u)

What are the principles of treatment of a disease ?

(a) Name two diseases for which the children below the age of one year should be
vaccinated.

(b) What are the symptoms shown by a person if :
(i) Lungs get infected ?
(i) Stomach is infected ?

(a) Write down the 4 characteristic features of the members of the class Aves.
(b) To which group do the following belong :

(i) Evergreen trees that bear naked seeds.

(i) Plants which have tap root system and two cotyledons in their seeds.

(@) A hefty boy of 12 years often picks fights with others. Do you think he is in good
health ? If so, then explain your answer.

(b) Give an example each of disease caused by
(i) Protozoa (i) Bacterium (iii) Virus (iv) Worm

(a) What is meant by kinetic energy ?

(b)  Derive an expression for kinetic energy of a body of mass m, when it is moving
with a velocity v.

(¢) A body of mass 2 kg is thrown vertically upwards with an initial velocity of 20
m/s. What will be its potential energy at maximum height (g=10 m/s?)

OR
(a) Give the mathematical relation between power, force and velocity.
(b) Can a body have energy, without having momentum ? If yes, why ?

(c) A car of mass 2000 kg is lifted upto a distance of 30 m by a crane in 1 minute. A
second crane does the same job in a 2 minutes. What is the power applied by
each crane ? Do the cranes consume the same or different amount of fuel ?
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(a) Describe the main features of Bohr’s model of an atom. Draw a neat and labelled
diagram of energy levels.
(b)  Which of the following pairs are isotopes and which are isobars ?
58 58 79, 80
- A, "B o X, Y
O 267 g W 357 35

Give reasons for your choice.

7

(c) Elements A and B have atomic numbers 18 and 16 respectively. Which of these
two would he more reactive and why ?

OR

(a) Describe the main features of Rutherford’s model of an atom. State one major
drawback of the model.

(b) The number of protons, neutrons and electrons in particles from A to E are given

below :
Particle | Protons |Neutrons | Electrons
A 17 18 17
B 3 4 2
C 18 22 18
D 17 20 17
E 9 10 10

Find a pair of isotopes from the above particle by giving suitable reason.

() If Kand L shells of atoms are full then what would be the total number of electrons
in the atom ?

(a) What is green house effect ?
(b) How various biological factors are needed for soil formation ?
(c)  With the help of labelled diagram, explain oxygen cycle.
OR
(a) What do you understand by ozone layer depletion ?

(b) What is air pollution ? How does air pollution affect animal and plant life ?

SECTION - B

A sound wave strikes a high wall perpendicularly. What is the angle of incidence for
the sound wave ?

Wall 4
/]
/]
9 .
/]
/]
/
/
@ 0° (b) 90° (c) 45° (d) 30°
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The given figure respresents a graph between the angle of incidence and angle of
reflection for a sound wave. From the graph we can say :

angle of
reflection

©

» angle of incidence

(a) Angle of incidence descreases with the increase in angle of reflection
(b) Angle of incidence increases with the decrease in angle of reflection
(c) Angle of incidence is always equal to angle of reflection

(d) Angle of incidence sometimes increases and sometimes decreases, depeding upon
the loudness of sound

The correct experimental set - up for determining the mass of a solid in water is shown
in the figure :

¢ Thick .
jute rope

@ A (b) B (© C (d) D

The mass of a solid iron cube of side 4 cm is to be determined from the four spring
balances available, the one best suited for this purpose would have :

(a) Range = 0to 100 g, and least count = 1 g
(b) Range = 0to 100 g, and least count = 5 g
(c) Range = 0 to 1000 g, and least count = 10 g
(d) Range = 0 to 1000 g, and least count = 25 g

5
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== O
E’ : - Spring =
O
- balance :P:-_;
420 =
= =
el
%_-;40
5o 1 Fig. II
] Overflow —
ﬁ—/ jar Measuring
E/]% /‘ cylinder
Metal Cube 40
320
Wooden
Block 10
; 0

In order to verify Archimedes principle, a spring balance with a zero error of 2 gf is
used to weigh a metal cube as shown in Fig I. The metal cube is then immersed in
water contained in an overflow jar and the volume of water is collected in the measuring
cylinder as illustrated in Fig II. Answer the following questions no. 30, 31.

The corrected weight of the metal cube in air is :
(a) 40 gf (b) 38 gf (c) 42gf (d) 39 gf

The volume of water displaced by the cube when immersed in water is :
(@) 18 cc (b) 20 cc () 21cc (d) 19 cc

When the heart pumps fresh blood in the arteries at the regular intervals of time, the
mechanical wave produced in the blood is :

(a) a periodic wave (b) a pulse
(c) an electromagnetic wave (d) none of the above

A tuning fork makes 256 vibrations per second in air. When the speed of sound is 330
m/s, the wavelength of the note emitted is :

(@) 0.56 m (b) 0.89 m (¢ 111m (d 1.29m
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Which of the following statements is true for pressure excited by solid body ?

(a) It depends upon the area of contact for the same magnitude of force.

(b) It does not depend upon the area of contact for the same magnitude of force.
(c) Greater the area over which force acts, greater is the pressure.

(d) none of these

A cylinder and a cone have base radius r; and r, respectively (r; > r,) are having the
same mass. Then pressure excited by the cylinder is

(a) greater than cone (b) less than cone

() equal to cone (d) equal to cuboid

Spirogyra is slimy in touch becuase

(@) Cell wall is made up of cellulose

(b) Itis found in dirty pond water

(c)  Pectin layer of the cell wall dissolves in water to give a slimy touch.
(d) None of these

Which group of animals have segmented body ?
(a) Arthropoda (b) Nematoda
() Annelida (d) Coelentrata

Which of the following plant groups is known as amphibians of the plant body ?
(@) Algae (b)  Fungi (c) Gymnosperms (d) Bryophytes

In the given diagram what is x :

X

z

b
(a) Rhizoids (b) Leaves (c) Capsule (d) Seta

The plants which have naked seeds belong to the group
(@) Angiosperm (b) Gymnosperm (c) Algae (d) Fungi

Which one is a warm blooded animal ?
(a) Rat (b) Earthworm (c) Fish (d) Frog

-00o0-
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T i &t TSt il o SRt STel SEeRT SomM 9R TAT a9l AT QRN K e Simar § 2

T G &9 H IRt a%g 3td: Jf W Uga o T Wt § 1 fF W Ugad W ST st Sl
T 1 BT ?

e, YA =5 i qRT GfSe See ot e

1 Sifaen €9 9 TEequl Aifen, T8 SAfafiS e Tege <1 8, i A1 e |

31 o STXUM GRI 19 1 THEd & 7 91 STV Ush oS el I GI-HUSY § aia-a g9 d
I hId § 2 Al &, Al TS YTEl bl Shy AT ST Fehdl & ?

31 gereif A 91 B % SATUfRTeh S ShAES: 2.5 910,98 | A U1 B % S I ShifsT | g off I
HIfST o 9 g ST 21 961 | (@ &1 59 = 1000 kg/m?3 1)

(a) T HReI S R A= ot 4R Y@ &, S g S
(b) @ TH 20 N 1 YOG 10 cm? &S & Teh I8 T T ST &, ST FIG i1 |

3G UMY & T Tk AR &1 < RO ST |
AT gt ol fHerT qen arashd # gfterds Stel Sited sl i guiferd i & ?

el Feiike TRY T R TTEfed Bt W Em FARES a1 Stfais sl ¢ S 24.5 g
Hreform Feiike quidan TEfed BT ¥, 99 14.9 g Uefem Fikge 99 €1 W SASE %
AU 1 UReher hITIT | TErREIfeR HasH & 1 &1 avi o S ff 3o 39 999 & g
& o o fohan T

(i) O™ MW (Nat) (i) STFES M (02~ ) H FANSThdl Soiagiql i T&Ad
T2 (TH HSM Na = 11;0 = 8) |

Teh SFIeh A1 Tt o fae g it 71 aRuifedt ot J=t SIfSTe | =i i 1 7o
7?2

(a) WS, STERLA=R qd WA % g<dl | fhad g Ed T 2
(b) FIERE & Hawl & T fafen si foh Fwe= & @y 370 I B
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frefafaa 4 faug it .

(a) Fifeh TG a1 forpq-grerenta adi |
(b)  YSICTdl AT e |

(c) TemeR qen HdreT |

(a) T 9 gRI foha T el el FOMHS Bl § 2

(b) TSI % A my /m, = 3 T TR A S E,/Ey= V4 &1 Tk il b SO
R ?

(a) o Tk ¥ foehle it ealf S T il U8S hl HeRal hl e shi STU&T dIsi | =efdl
s?

(b) TH TS ¥ T GHR Ifth Tk Hohd a8 9ISl © a1 5 Hohe AIG Tk Wiaea g
FHA T LT i =T H aReher it |

(a) TIOR SAHM I IRHIMYG FHITST | SHHT SHhE 1 € 2
(b) TrAfafea g gr fefua Aife & T fafea
i) K,CO; (i) Na,SO, (iii) Ca(HCO,), (iv) H,S

IS HeHL SEATHEE (SO,) % Ueh o3l T 7 § 10l =6t Hean 3.011 x 102321, @ ffefad
I qfeher &Y :
() T<& & T H Ol g |
(i) T3 T T H G SEATFIES Hl GTH M |
(iii) T3 T T H StfeRdisH AT H Her |
(A EFHH S = 32u; 0 = 16 u)

Teh 0T & YR & 1 fagra 82

(a) 37 W ok AW ST ek T Uk ¥ | %W 3T o el ol SIeRTh0T AT AT |
(b) T Afh g ¥ A YSRIA fohdl S 8, A
(i) RS WHET T WK §? (i) ST HHiEd B S ?

(a) TWATSI Gl o Ha= o =R fafim aaron = fafa |
(b) TrAfafEa frg dart § gafem ©
() weERd g&1 S for 79 oS gRo X 7
(i) TRY S g STe @3 qe S ST SSll # < eI W ¥ |
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(b)

Teh 12 8 1 T9-TF TSHI TH: THL H TSE hdl ¢ | 1 379 Hied § o SHeh1 TreeA
3= ¥ 7 AfG U §, Tl 3T IR h SATAT T |

() URNeN  (i)  ShE (iii) feremoy (iv) HfH g0
I Yook T 1 Teh ISR ST |

TSt Sootl & AT T TR § 2
m S i Teh a%] i TSl il o fTT Teh Hsleh el hifay, 56 98 v o § =a
W@IE|
2 kg I T 9% 20 m/s % YR 1 § Heaferk TR H IR el T §1 A
TS T sHeh! Tefast sl s/ Bt 2 (g =10m/s?) |

SPC))
wIfh, ot 991 AT & o T e e |
F T %] H, o1 Gom &, St et § 2 AfG &, 4 ?
T 2000 kg T T HR TH 4 R Th 7 H 30 m T T 3 &It &1 TH
TH o gl B ol 2 e B Rt €1 WA She G oIS TS WifhAl 2 R ke
¥ i GAM A1 fafis A =g i ?

TLHTY] o SR HiSel o HE& TALIUN hil SHTREAT IS | sl W I Teh W= a7 AHifhd
3@ G |
frefafed g § 9 oF gaeenfe T iR SiF a2

58 58 79 80
. A , B .o X , Y
. (W) 3% 55
AT =99 & foru o S

T A T B o AT HHH HAW: 18 AA 16 7| 7 aHI § ¥ i e Afubrameia
B e i 2

At

TRHATY] o RIS HiSH & T ATV 1 AT HIfT | T9 TS i T THE FHHI Hl
U T |
A YE T % FI H Wi, =2l qe soraeEl & Hed e @ T R

F:UI qeH | g | TR
A 17 18 17
B 3 4 2
C 18 22 18
D 17 20 17
E 9 10 10

IR K0 H § Teh GHLAehI o JTH 1 =7 I9gH HRU od L Y |
g TXATY] & K 991 L Hafr qui 81, 7 A1) § Soiareiqi ohi €YUl HeA 1 Bl 2
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(@) T BIS| 4 e ?
(b) a1 % fmior & feTw sTieh Sa SRl 1 SMEATFHAT Hd Bl © 2
(c) HifeRd ST i FRIHA ¥ SRS =h hi SHRSAT hiTST |
Jrear
(a) 3ISIM WA B9 | 379 A THed § 2
(b) Y TGUOT AT ? AR TG WO T WG S{e hl K FANI HLdl © 2

Lug - d
Teh &8 T Teh Sl S’ § ovead &9 9 Tohidl &1 &af a1 o felu A19dqe o = g ?

:—?ﬂaﬂ
Za) 0° (b)  90° (c) 45° (d) 30°

& T Tpfa H W eal a0 o fAIU SATGa 0T q1 YWed vl % S Teh ST e
foren TN R 3T W Y e Ghd © ¢

A

angle of
reflection

©

» angle of incidence

TR 0 B gig & T SATIqH hIv hl B Bl § |

TR 101 | B & WY 2 w0 § gig et B

STTITH IV T TSI DIV & SER Bl ¢ |

39 0 H weft gig Bt &, T it g 2 €, I At st Yelerar R R e 7

V)
~—~ ~—

/\/(?A/\
&\_/

S § Tk 319 & goquH Ui & fou St yaeHeh sgereurys gefyld feman wn §,
H@ﬁﬁ:

s — Thick —
jute rope
" . ,,C e = e
(@ A (b) B (€ C (d) D
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29. TH4 cm H S & TR o S ¥4 o GAHM (ERU & fw IR HAHRR o SUas 8, 39
W?W@WW_@WW:
(a) UREL = 09100 g q STeqaHish = 1 ¢g

(b) UREL = 09100 g q STCYqHI® = 5 g

(c) UREL = 091000 g T 3TeUqHlh = 10 g

(d) TRER = 091000 g d1 3qaHih = 25 g

STFHHE o fagT 1 FATTH i & faT 2 g Ik Jfe aTell Teh HAMCR el 91g =49 Sl
I o o S/ eepfa 1 ° wefRfa foran T €, TN &l | @ g 549 1 3TTeld SR § W)
el H @R T a1 Sl 1 A, "9k fafee § §ue foRan e, S f smepfa 11 H T
foren ©1 Ffafaa w7 d@emedi 30 9 31 &1 W ST

. >
= © ==t ©
Spring :,,_
2 lo [&— 310
L balance :Pi
120 =
= =
Sl :
%_-; 4o
5o 1 Fig. II
| Overflow —
ﬁ’ jar Measuring
E/[? ;( cylinder
Metal Cube 40
Fig. I 730
2320
Wooden .
Block 110
30, U R A H IS R T :
(a 40g (b) 38g (c) 42g d 39g
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9 o 1 ST § gar T T, 59 R foreenfud et i ST ©
(a) 18 cc (b) 20 cc () 21cc (d) 19 cc

o 7ed vmfE A IS W 999 & i oaie W 99 S §, @ H Saanfed it 9l
g

(a) T et (b) TH T
(c) U forpa-grshia ai (d) ST H A BE &

T @WiE Gy 9 # 256 FFF ¥fa Hehe SO Hdl &1 9 &4 sl = 330 m/s @,
Wﬁfﬁwaﬁw—é%ﬁ%:

(a) 0.56 m (b) 0.89 m (¢ 111m (d 1.29m

T 39 %] N guifed <@ & fay frfafad wodi § 9 a@t s A g?
(a) o % FHM IR % foTT T8 Taeh &ehel T R o 2

(b) & % AN IR % AT I TEah dehe R R A R
(c) &=hel fSrE W o i L ©, @At © dl < ot Sfek B 7
(d) =9 9 HE T

THM SEAHM % Teh oo 4201 Teh W o ST i Boml ot vy @0r, (v, >1,) 1 T siem
SR T <16l € :

(a) W% 9 AferR (b) ¥FHHA
(c) ¥F o e (d) TAIehIfUTR THIT TIHAS & SRR
TSN 9§ STadeh! € Hiifeh ?

(a) RITeTRI-Faf Seqeie st ot 2t B |

(b) IE = A Sel | 9T Sl § |

(c) hITRT-fafa ot Yo" T el | FeTohd T STadent T3t <ot §
(

d) =T 9 = TRl
Tl % ford Hawt st TEE < Bl © 2
(a) sTgdrer (b) fErer (c) THiferer (d) Her=E

frafafed qey et § 9 A Soree =) SH 5d § 2
(a) & (b) HAH (c) Towremd (d) SRR
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39, fRA W MEdAxFMT?

%
/,
(a) TESiEeH (b) afwat € FHwgd (d) e
40. IEY S T SISl WA §, Hell | Wi §
(a) UfrEmed (b) forreTs () SEm@ (d) wIH
41. I 91 9107 GHATT ® ?
(a) =& (b) e (c) o (d) Heh
-00o0-
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